mX°X XM 7"7 '000 2,2 n2w .7"02

But the mawn states nINOXS —3INP NINOXY N

OVERVIEW

The X1 asks how are we to understand the n11wn of '21 0°192) '7 7AW '2 P2WT MIXY°
Y2 '7 1w), since the 7Iwn states MX°X* which [seemingly] refers to fX¥7 only;
how can there be ("127) "7 77w '2. It is not clear whether this question is on our 7wn,
the m1wn in M¥12w, or on both. Md0IN resolves this ambiguity.

— DNY NOHN HNOYN KDY INAPND 1NDID MINT MIMAYWT PIINNIN NN 7999 ND
This question (of *1np MX°%> X)) is only on the 71w? in nNwI2w nNoon where all the

four cases are 82119 and only two cases of mR¥7 (not four) can be found -
— N2NY 0919 1% XIY 15 MNIEA INDID 1Y NNOYN NONT PNINNA YaN

However in our mw» here (where they are not 821°1% 17910) all eight cases can be
found by 7827 only (without including no157) provided for instance that these
eight cases are not all X215,

Mmoo begins to enumerate the four cases of XX by the "1v:
—3ARVN 2N 1Y YNNRT TON DANX V) ZANVN 29PN N YIY INNHINT DINY

The first two cases of 7RXY7 (the '0°nW' in our 71Wn) are; 1) the RX7 where there
is a nxwR 21, 2) The 7R where the °1¥ is TOK 728 7D where he can come to a

NNV 2197, Mo continues with the remaining two -
— %33 5957112 MV *ANVN 29N 119D AN XYY NION YaN 91V 77 )"hVY

Which are four; the additional two are 3) where the °1v is 90K ®aR 21ws which
will not become a nxXur 291 and 4) the case where the °1v is anmy mws. This
explains the '7 17w '2 by the >1p -

— 77102 TUN )2 PN 13529 WIYY S95uya 19

It is X21A? 177910 since *INp W31 MRIAT XM17 (as mentioned previously).

2 This is where the *3v made the entire %237 including the m3m APy,

3 The "1v made the nx¥7 (he stuck his hand in the *"77 and the 2"7va placed an object in his hand); he took it out
from the >"717 and made the 17"772 7m37 (but no "2 77°pY). See footnote # 7.

4 The 2"7va made the 7Py and the 7x¥7 (but not the M) and the *1v (only) made the aman.

5 The 2"7va made the entire X% including the 7m3m 77°py and placed it on the s hand in the 7"77.

® The four case are; 1) the 2"1v2 made the entire XX, 2) the 2"7va made the ax¥I7 without the m37, 3) the 2"7va
made only the 77°py (the 7mIm XX were done by the °1v), and 4) the *1v made the entire 7X¥17 from the hand of the
2"7v2 who is 0 . See ‘Thinking it over’ # 2.

7 See Mo "7 X2 Moo, The X"21 maintains that the nXvn 211 *7°2 >NR7 MWD (Which are the »1Mwo the mwn» counts
X1pon?) refer to the one who transferred the object from one mwA to the other regardless if he made an 37°pY or a
anan.
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And similarly the same explanation applies to the =»ww; this is valid (only)
according to the X'"2" wyp, 8 which will be cited shortly.

Now that n1901n has shown that we can find '7 17 '2 by 78X alone -
— DTIIN MAN N NIN NAY P2¥T XIN %W 3 HoyY ’57Y)

So therefore when the X713 previously answered, that since here is the naw ps,
therefore the 71wn teaches the maR and NMT2I1N; the xn3 -
25307 MINOY NN 79913 S8 YD NY

Could not have challenged this answer by saying ‘but it states only MNs2>!’, so
how could there be '7 17w '2. We see now that there can be '7 7% '2 even by nIX°X> alone.

SUMMARY
It is possible to have 2°192 '7 17w '2 and yw2 '7 AW 2 including only 7RX17
(according to X"2'1 v w); provided that we can count all the o*w>.

THINKING IT OVER
1. According to this proposed hypothetical vws how do we distinguish between the
o°'nw and the yax jaw?! 10

2. How can it be that we count the case of 7M1 2w as one of the naw; mxow?2!1!

8 According to >"w1 however who maintains that nXon 21n >7°% *nX7T *1wd refers to the one who is doing the 7Py,
there is no NRVA 21°17 °7°7 *NRT MWD by "7 ARXYI for in both cases of AXX72 *1v MWD he is only making the 7m7 (once
while transferring it out of the *"717 and the other with merely putting it down in the 1"77).

® We would however (seemingly) be required to modify the answer somewhat, that when the X 23 said nax »anp
m7m it meant the >11w9Y 20 of XY (but not 703137).

10'See x"wmn.

11 See footnote # 6 and 7R "WX.
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